
Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by powers of ten

4.827 × 100000 = ________ 10.712 × 1000000 = ________

1.997 × 1000 = ________ 8.554 × 100000 = ________

4.678 × 1000000 = ________ 10.416 × 1000 = ________

2.707 × 100 = ________ 6.125 × 100000 = ________

7.686 × 100000 = ________ 7.578 × 100 = ________

8.032 × 100 = ________ 10.524 × 100000 = ________

6.551 × 1000000 = ________ 8.616 × 10000 = ________

3.084 × 100 = ________ 1.957 × 10000 = ________

4.257 × 10000 = ________ 1.864 × 100000 = ________

6.818 × 1000000 = ________ 3.172 × 1000 = ________
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Name: 　　　　　　　 Date: 　　　　　　 Score: 　　　

Multiply decimals by powers of ten

4.827 × 100000 = 482700 10.712 × 1000000 = 10712000

1.997 × 1000 = 1997 8.554 × 100000 = 855400

4.678 × 1000000 = 4678000 10.416 × 1000 = 10416

2.707 × 100 = 270.7 6.125 × 100000 = 612500

7.686 × 100000 = 768600 7.578 × 100 = 757.8

8.032 × 100 = 803.2 10.524 × 100000 = 1052400

6.551 × 1000000 = 6551000 8.616 × 10000 = 86160

3.084 × 100 = 308.4 1.957 × 10000 = 19570

4.257 × 10000 = 42570 1.864 × 100000 = 186400

6.818 × 1000000 = 6818000 3.172 × 1000 = 3172
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